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l{r.llenxoro BHC 0 4.9 [<0,58] 7.59 3006 | 6,8 | 111 <0,015 | <0,1 0,39 0,25 4.2 0,03 0,0049 | <0,005 <0,1 0,02 36,07 1,0 12,99 | <0,01 [0xoe |ue obm He 001
Ne6 Bpeska BCB
2[r.lenxoo BHC 0 39 [ 1,58 7,47 5408 | 52 | 0,25 <0,015] 0,63 0,81 0,22 4,1 0,02 | <0,0025 [<0,005 0,41 0,006 | 5548 2,1 33,81 | <0,01 {Oxoe [me obm He o6n
Neb pesepryap No2
3|r.lenxoro BHC 0 37 | 1,58 | 753 5266 | 5.2 0,7 ]<0,015| 06 0,8 0,23 42 <0,0 | <0,0025 |<0.005 0,44 0,006 | 85,72 21 26,71 | <0,01 |0koe |me ofn HE 061
Ne6 pesepryap Mol
4|B3Y 1. PTII 0 5.5 0,85 | 7.78 502,8 7.3 0,66 1<0,015] 0.96 0,21 0,24 3 <0,01 0,0189 |<0,005 <001 | <0,003 82.86 0,94 64,58 | <0,01 [Okoe He 00H |He o6n
Dpanosckoe mocce
pesepeyap
51B3Y n.Mouuno 6/« 1 15,5 [ 2,09 | 7.51 2948 5,2 0.82 | <0015 0,11 0.1 0,22 5,9 0,03 0,0235 | <0,005 0,71 <0,003 | 20,96 0,52 21,81 | <0,01 |0koe He 00H |He 06H
pesepayap
6(r.Ilenxoso B3Y Ne5( 0 2 <0,58( 7.33 508.8 7.8 0,94 |<0,015 1,3 0,22 0,16 6,6 0.03 0,0261 | <0,005 12,1 0,27 145,72 | 0.37 73,99 | <0,01 |Okoe He 00H [He oBu
yiITnexanosa
pesepsyap
71B3vy 2.0ryayero, 0 3.3 1,02 | 7.29 | 3245 6.2 0,74 |<0,015 <0,1 0,52 0,24 6,1 <0,01 0,0031 | <0,005 0,34 <0,003 | 33,34 0,99 17,03 | <0,01 [0xoe He 00H |He ofn
BBIXO/ €O CTAHLIHI
8|B3Y n. Kpacno 0 3.2 |<0,58] 7.45 | 5708 6,5 | 0,26 [<0,015 0,43 0,7 <0,1 4.5 <0.01 0,0051 <0.003 | 7024 | 0.64 49 <001 |Oxoe  |ne 06H |me obn
3HAMEHCKHIT
9IB3Y 1 Tonroe 0 3.2 [<0,58] 7.71 3504 5,3 0.78 [<0,015( 0.31 0,15 <0,1 54 <0,01 | <0,0025 0,018 15,24 0.66 17.89 | <0,01 |0xoe He 0bH |He o0H
Jleaoro Brixoz co ESEN
10|B3V a2 yva. Tarcnn 0 3.7 (=0.58| 727 594.8 8.5 106 [<0,015] 1.06 0,21 0.19 7.6 0,01 <0,0025 0,116 60,48 | 0.65 | 62.23 <0,01 |Oxoe e obn |He 0B
CKas pesepeya
pescpeyap - | ‘
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11{B3V 3aropsHcKuii 0 7 1,02 | 7,47 | 7404 | 10,1 1,54 |<0,015] <01 <0.1 0,25 5,6 0,02 | 0,0069 |<0,005 <0,1 | <0,003 | 111,43 0,18 123,73 | <0,01 [Oxoe  |H€ obu |ue 06H
yi.P.JhioxcemBypr
pesepByap
12|B3Y n Jlonroe 0 42 (1,02| 752 sg4d4 | 52 | 1,02 {<0,015 025 | 0,15 | 024 51 | <001 | <0,0025 <0.005 | <0,1 | <0,003 46,19 | 0,72 | 14.88 <001 |Oxoe |we oOH ne 061
JlenoBo Jreppuropus
W @3) pesepryap
13|B3YlureuHoB0 0 5 (108 | 7,53 | 2208 | 42 | 0,62 | <0015 <01 | <0.1 | 0,25 7 0,02 | <0,0025 [<0,005| <0,1 | <0,003 1248 | 02 | <10 | <001 |Oxoe He 00H |He 06H
BBIXO]L CO CTAHIIHI
o0e3sKe e HBaHIl
14|B3Y Ned yn.3apeu 1 5 069 | 7.53 | 5342 | 116 1,34 [<0,015] 0,95 0,66 | 0,21 58 | <0,01 | <0,0025 <0,005| 7.6 | <0.003 5.3 1,5 52,43 | <0,01 |0xoe ne 06n |He 06H
Has pesepByap
15|B3Y 1.5 . XKepelbip 0 71 [1.41] 7.8 | 5904 T 05 |<0,015]| 0,52 | 063 0,25 41 | <001 | <0,0025 <0,005| 1,2 | <0,003 3666 | 5.1 20,09 | <0,01 |Oxoe  |HE 06s |He 06H
BEIXO/L CO CTAHLIAM
16|B3Yn Kmoxpennsit {0 4 |<058] 7.76 | 3086 | 3.6 0,62 |<0,015] <0,1 0,13 | <0,1 7.1 | <001} 00065 <0,005| 4,5 | <0,003 48,15 | 0,19 10 <0,01 |0xoe |me 0bH e 061
peaepryap
17|R3Y n.Tpybuso 0 3 |<0,58| 7.59 | 3104 3,6 | 1,02 | <0015 <0,1 | 0,18 | <01 7,7 | <0,01 | 0,0025 <0005 0,66 | <0,003 21,06 | 0,26 | 26,34 <0,15 |Oxoe  [we oOH Be 00H
BBIXOJL €O CTAHIIAH
18[B3Y ya. 01 32 |<0,38] 7.73 | 7208 | 6.0 | Ll4 <0015] 0,18 | 07 | 025 | 42 <001 | 00025 |<0,005| 0,55 | 0.013 61.65 | 5,2 | 2573 | <0.01 |Oxoe He 0OH |He oBH
Coxonopckas
19{B3Y a.CepkoBo 0 2,7 |<0.58] 7.51 342,8 4.7 1,1 <0015 <0,1 0,21 <0.1 5.4 <0,01 | <0,0025 0,005} 0,1 0.032 | 30,06 0,6 24,01 | <0,01 |Oxoe ye obn |ue obu
pesepsyap
20[ B3V n.Crapas 0 26 [<0,58( 7.24 | 5059 47 | 1,18 |<0,015( <0.1 0,17 | <01 89 | <001 | 01131 <0,005| <0,1 | <0,003 90,15 | 0,19 | 60,27 <001 |Okoe  |me obH He o6H
Crnoboaa ,BEIX.CO
21|B3Y 1lenkoso-3 0 45 | 085|783 | 7248 65 | 0,66 |<0,015] 058 0,4 0,18 55 | <0,01 | <0,0025 <0,005 | 18,3 0,019 | 1706 | 0,58 27.33 | <0,01 |Oxoe He obu |He 06H
ya. Pagponentp-5
22{B3V Nel 1llenkoso3 0 1,4 | 0,58 7.69 620,2 8.2 0,5 |<00151 <0,1 0,4 0.1 4.6 <0,01 | <0,0025 <0,005| 37,9 0,009 2006 | 0,85 80,1 <001 |0 KOE |He ofH |ue 00H
v LI HOJIKOBCKOTO
23|1B3Y lllenkoso-7 0 4.8 (0,58 5,353 2856 0,1 0,25 |<0,015( 0.1 0,24 0,1 0.5 <0,01 | <0,0025 <0,005] <01 <0,003 3,16 0,05 <10 <(,01 |0KOE He ofn |xe 0bn
| |puB
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241B3Yn lonroe 0 14,9 | 1,41 | 7.32 | 2848 49 1,3 [<0,015( 0,89 0,22 0,28 6,5 0,02 0,0071 |<0,005| <0,1 | <0,003 24,66 | 0,53 12,12 | <0,01 [0KOE [ue o6u |ue o6H

Jlemoro FOYCIIO
MO MOCK msixon
CO CTAHLHHK 00e3:Ken-
A

25(B3V cTlerporcwoc | 0 [ 5,5 [ 0,85 | 7,47 (282,40 | 5.6 | 09 |<0015] <01 <01 | 0.1 49 | <001 | <0,0025 | <0,005 | <0,1 [ <0,003 | 1346 | 032 | <I0 | <0,01 |0KOE e o6m |nooon
pe3epByap

26|B3Y n.O6onzmio 0 ) <058 7,5 | 4206 7.4 1,38 |<0,015| 031 0,39 <0,1 53 <0,01 | 0,0041 |<0,005| 1,7 0,059 22,4 0,65 10 <0,01 |0 KOE (ne 06u |ue 06u
BBIXOT CO CTAHITIM

271B3Y Ne3ynllent | 0 | 42 [058 731 | 6224 | 97 | 138 [ <0013 O1 | 031 1 01 | 39 | 016 | 005255 [<0,005| 14,1 [ 0.13 | 1023 | 0,23 | 79.09 | <0.01 [0KOE Jue o6m Tes oom
pamLEas pescpsyap
28|B3Y Hoswii 0| 45 | 068177 | 6808 | 84 [ 025 [<0015] 0,57 | 059 | 0.0 | 3.9 | 0,001 | 0,0025 <0,005 | <0,1 | <0,003 | 3406 | 2 | 20,92 | <0,01 |0 KOE |we o6n e o6

TOPOJIOK, pe3epByap

29|B3Y n.3aropsmexmii,| 1 6,1 1,41 | 7,25 | 6624 8,9 | 0.38 |<0,015| 04 0,43 0,28 4.6 <0,01 | 0,0045 (<0,005] 0,085 | 0,003 843 0,48 [ 65,82 | <0,01 [0KOE [ue 061 |ne o6a
yn. ToncToro, BEIXOA
CO CTaHLIH

obesxenesnBanms

30|B3V Baropanckmit, 0 6,91<0,58| 7,21 | 470,8 7.9 1,22)<0,015] <0.1 0,18 | <0,1 5.1 <0,01 | 0,0073 |<0.005( 0,37 | <0,003 112,6 0.5 32,75 | <0,01 |0KOE |ue 06H |ne 06n
ynKapia Maprca
,BBIX.CO CTaHIHU

31IB3Y a1 Meapexen 1 14 147 | 73
o3epa,yn. KOGunetina

3004 | 5,4 1,3 | <0016 | <0,1 0,31 0,28 4.7 | <001 | 0,0109 [<0,005| <0,1 | <0,003 713 0,55 | 49,74 | <0,02 |1 KOE |ue 061 |ne o6m

£

(V5]

32|B3Y yn. 0 54 |<0,58]| 7.14 | 5872 | 8.0 1 <0,015| <0,1 0,18 0,28 8.4 [ <0,01 | 0,0025 [<0,005] 13,1 0,241 | 62,25 | 033 | 66,19 | <0,01 [0KOE [me o6u |ue o6
Kpacrosnamenckas

33/B3Y a.Cyxmannxa 0 29 10,791 7.4 156266 3,1 0,84 |<0.015| <0.1 0,14 <0,1 4.1 <0,01 0,0047 |<0,005| 0,69 | <0,003 | 65.24 i 10,2 | <0,01 |0 KOE |[He 06H |ue 06u
6/K BbIXO1 €O
CTAHIIHH

34|B3Y 0 1,1 |<0,358| 7.29 | 622.6 6,8 0,78 [<0,015] <0.1 <0.1 <0,1 8,6 <0,01 | <0,0025 | <0,005| 204 0,008 52,14 0,28 71,04 | <0,01 [ 0KOE | ae 061 | He 061

n.Ipebrero.zrixon
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